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Commerce
Paper 1II

TSy
gyutrent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

U Sed. @d U Wi

Arithmetic mean of salary of 100
males in a company is ¥ 20,000 per
month and that of 50 females is
% 17,000 per month. The arithmetic
mean of salary of the combined
group of males and females in the
company is .............. per month.
(A) ¥ 20,000

(B) ¥ 19,000

(C) ¥ 18,000

(D) ¥ 17,000

Suppose 6, = standard deviation of
{1, 2, 3, 4, 5}

09 = standard deviation of {11, 12,
13, 14, 15}

then ..............
(A) 0 > 0y
(B) 04 < 09
(C) 01 = 09

(D) o9 = 01 + 10

If A and B are mutually exclusive
events, then P(A” U B) = ...........
(A) PA)

(B) P(B)

(C) P(A") + P(B)

(D) PA) . P(B)

Teh! ShOHETA 100 JEH=AT S T
TTHET T 20,000 3R 3701 50 o=

I T TR 2 17,000 3AR. HUre
Wi 9 GEUrAT THIA oare Je SOl

(A) T 20,000

(B) T 19,000

(C) T 18,000

(D) % 17,000

Sl 0y = 991 fa=ed {1, 2, 3,
4, 5}

oy = T fa=re {11, 12, 13, 14, 15}

a
Q
=
|
Q
[\

D) oy = 07 + 10

S A 0T B A1 TERAfSd S ST,
@ P U B) =

(A) PA)

(B) P(B)

(C) PA) + P(B)

(D) PA) . P(B)

[P.T.O.



Given that :

Rankof X |1(2(|3[4]|5
Rankof Y|5(4 (3|21

The Spearman’s rank correlation

Which of the following statements
is always true for Poisson

distribution ?

(A) mean > variance
(B) mean = variance
(C) mean < variance

standard deviation

(D) mean

For testing equality of two

population proportions we use

................. test
(A) F

(B) Chi-square
C) ¢t

D) =z

JUN - 50220/I1—C

e fooiedn Hifedioe RasHT=1 hHh
ma .............. a@a’

A 1
(B) 0

C) -1

D) +
D 5

Tigdr faaRomaed qeietdeht shivid faem
Tt T e ?

(A) |89 > T=U

(B) &9 = T=01

(C) A9 < Y=

(D) w& = gH o=

T g YT GHEAETel

& HERE TR
(A) F

(B) S-SR

) t

D) =z




10.

In one-way analysis of variance
suppose there are £ treatments and
n is the total number of observations
then the degree of freedom for error

sum of squares will be ............

A n-1
B k-1
(C) nk - 1
D) n -k

As sample size increases sampling

(A) Increase
(B) Decrease
(C) Do not change

(D) May increase or decrease

[13 »”

means the practice of
taking someone else’s work or idea
and passing them as one’s own.

(A) Plagiarism
(B) Source
(C) Script

(D) Integrity

The advantages of ............. is that it
avoids reinventing the wheel of

research work.

(A) Sampling

(B) Review of literature

(C) Objectives of the study
(D) Hypothesis of the study

10.
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TS AT F=i0T favaisomame: £ ST
(treatments) STIXA STETel ST THIT
n &0 sTda W W a1 SRerdTa!

(error sum of squares)
i .

(A n-1
B) -1
(C) nk - 1
M n -k
STESTHT

T SRR e

(A) dre

(B) & B

(C) G Tl

(D) e fhen wHT B

e ? WU 3 HIUHTAY I
HMH A FHeadl W= HH U
WA hed Tl 3g T FUrvATEl Sl
HE|

(A) eI
(B) €

(C) T
(D) =R

HeMEF=IhTal AR ATEUETEl WehR 2Tes0]

Al

(A) T Fae ggdten

(B) Ugvenr=a fHgeeeRr=n

(C) T Sfese Sguamrn

(D) STIHEA UeheuqT HISuIm=n

[P.T.O.



11.

12.

13.

14.

The book ‘Human Side of Enterprise’
is authored by :

(A) Rensis Likert

(B) Peter Drucker

(C) Douglas McGregor
(D) Elton Mayo

...................... is not the example of
inherited characteristics.

(A) Intelligence
(B) Age

(C) Religion
(D) Perception

For performance appraisal
prefers to use the term staff
assessment.

(A) Megginson
(B) Cumming
(C) Levinson

(D) Armstrong

................ is not the characteristic
feature of informal organization.

(A) Informal
unplanned, arise spontaneously

relations are

(B) Informal organisation reflects

human relationships

(C) Formation of informal
organisation is a natural

process
(D)

Informal organisation is
hierarchical, pyramid-shaped
and bureaucratic in structure

with well defined positions

11.

12.

13.

14.
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‘T P IES SAE TeuES’ w U™
............. i forfeen o,

(A) Ifew foane

(B) dieX g

(C) ST HRIN

(D) Teed w2

(D) Svftel/HHSd (Perception)
FHEA AT TS
FHHAR JeIHIH & Gl TR I68
el

(A) BffFm

(B) FgfH

(C) W=

(D) AR

(A) SHOIER Fay AfAId T
g d ITHRaqe v g

(B) AHiT=Tfees geed HiTel @e e

yfafsfad .

(C) STHIY=Nish oA HEAYT T
Tafife wfepan oM

(D) AFtI=aTiw Feed € Avige,
IR SRR o GHfvEd 98
ST AR TS W&
3T




16.

17.

18.

.............. cannot be considered as the
ethical principle.

(A) Sacredness of means and ends
(B) Not to do any evil

(C) Equivalent price

(D) Indemnity

Which one of the following is not the
factor that increases resistance to
change ?

(A)
(B)

Lack of communication

Rapidity and extent of change
(Major or rapid changes)

()
D)

Group resistance

Participation and involvement
of employees

Which one of the following is not
true about the delegation of
authority ? Delegation of authority

(A) Specific or general
(B) Written or unwritten
(C) Precise or vague

(D) Upward or downward

Zero based budgeting is the new
approach to budgeting which was
introduced by :

(A) Peter Thiel
(B) Peter Drucker
(C) Peter Pal

(D) Peter Phyrr

16.

17.

18.
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gl Hifadds d<d R

foemma ¥ IR AL

(A) TEH 9 e 7w uifa=

(B) IVl Gehld T&Fed F iUl

(C) w\M fwma

(D) BIAYRY/TREHRATS

TTeATeTeh! ShIUTdT 2 ‘SIgaTell’ Hideh

FIOM AT ?

(A) GO 3ofte

(B) Sgam=l o & JHOT (HIS 9 9
BV &Igel)

(C) HHEMEm=N (=) UidehR

(D) FH=FAEl  WEWM  d WA

(Involvement)

ARIFHR THTETed WIeeTdeh! hivld farem

(B) o@t 9 31faifed

(C) AHeh o TR

(D) & o ST

ARG SIS § 6 gfeehd
A FE hal.

(A) dreX offed (Thiel)

(B) W g

(C) dreX e

(D) drX ®R (Phyrr)

[P.T.O.



19.

20.

21.

22.

Which one of the following is not
the external factor affecting
recruitment ?

(A) Economic
(B) Social
(C) Cultural

(D) Future expansion and reduction
programmes

The word Organisational Develop-
ment (OD) was coined in the mid

(A) Wendell French

(B) Richard Bekhard

(C) Harold Rush

(D) Warren Bennis

The best procedure for opening an
account in the name of a minor X’
and the guardian Y’ would be under
style :

(A) X’ Account

(B) X’ Account—Minor

(C) %Y in trust for X

(D) Y’ Account

The ‘Bankers’ fair practice code was
brought out in June 2004 by .......

(A) I.B.A. (Indian Bankers’
Association).
(B) R.B.I.

(C) Govt. of India
(D) Ministry of Finance

19.

20.

21.

22.
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ETeATeAUeh! ShITdT Sk 8 hHeR] o]
RO &R el ¥esh ATel ?

(A) sTfeiem

(B) @ISR

(C) wrepfaeh

fal

(D) &y 9iasadre

1950 =1 HeATell Yefad el

(A) J=d Ha

(B) f=E s

(C) TUee T

(D) e =

M ‘&’ 9 T Ui (A = Ae
ARG T STSTATES YelaTdeht
HIU JGd Gy SR ?

A) ‘&’ @

(B) ‘&' Td—=H

©) ‘g =x favermmEE ‘A’

D) ‘=" @

* SRR S SFRUGdT SR
SA 2004 9L A GEH GE hall ?
(A) AF.T. (Sfeam dhd FfawEH)
(B) 3IR.SI.374.

(C) 9Rd WHR
(D) AT




23.

24.

25.

26.

Which of the following is not a
quantitative measure of risk ?

(A) Risk measurement based on
sensitivity

(B) Risk measurement based on

volatility

(C) Risk measurement based on

downside potential
(D)

Risk measurement based on
pricing

................... is the credit limit for
funded or non-funded business
allowed by bank or financial
institutions to other banks or
Government to other parties.

(A) Lines of credit

(B) Authorised credit

(C) Approved credit limit
(D) Regulated credit limit

‘Not negotiable’ crossing is warning
to the ............

(A) Paying banker

(B) Collecting banker
(C) Holder

(D) (A) and (B) together

............... is a measure of sensitivity
of future cash flows and profits of
a bank to unanticipated exchange
rate changes.

(A) Translation exposure
(B) Transaction exposure
(C) Operating exposure

(D) Operational exposure

23.

24.

25.

26.

JUN - 50220/11—C
GEAIeh] 1T SEH T H&ATHS
iAo AR ?
(A) FoRAFHIER STeRd SIe™ o
(B) Seeme=HER UM S Tl
(C) I &Hde ST S o1

(D) HeAHid e oM

& frefer emenfia s
AT U STETITAT WehT SRS
TEA1 SAfUehToTel el AN TEAT
eI TSR shetell qHATR.
(A) T

(B) Afhd 9d

(C) H=TaTe d HAT
(D) frefa Ta wafen
‘F-efier’ &
3TR.

(A) IR SAfER

(B) Hehotsh AferenTs

(C) FRYl ¥Rk

(D) (A) afor (B) SR

fafqaa Tudia r7iferd acaiqs
Afeepor= AfasTHhel= oy a el
aTEER U=l F9TEr= HogA&Taa
I T 3.

(A) IRadd Fehed

(B) 9@ Yehdd

(C) FHERfE Tehed

(D) FMEHE Fehed

[P.T.O.



27.

28.

29.

30.

31.

AAA symbol used by CRISIL
describes

(A) Highest Credit Quality
(B) High Credit Quality

(C) Adequate Credit Quality
(D) Moderate Credit Quality

.................... have jointly promoted the

National Securities Depository
Limited (NSDL).

(A) ICICI, GIC, SBI
(B) SHCIL, NSCC, IFCI
(C) IDBI, UTI, NSEI
(D) NSCC, IFCI, ICICI

is an exchange of specific
streams of payment over an agreed
period of time.

(A) Swap

(B) Premium

(C) Future

(D) Option

Operational risk arises from
(A) Default

(B) External events

(C) People and system
(D) Inadequate internal process

.................. divides buyers into groups
based on their knowledge, attitudes,
uses or responses to a product.

(A) Geographic segmentation
(B) Demographic segmentation
(C) Psychographic segmentation
(D) Behavioural segmentation

27.

28.

29.

30.

31.
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AgR ITIuad IR AAA fas

Tyifed.

(A) Hated uagst

(B) S== Ydgsii

(C) T vdgsi

(D) H&Fq Yaesi

T T A

fe qulzs\'ﬁﬁﬁ 1%@%‘5'? . E'QT-['Q'\E[EQ['QF[) <

SAqearicdl HAAd end.

(A) AT, ST, TESe™

(B) THUSEIATIUA, — WATEHEHT,
STATHHIST

(C) STHSENeTE, JeIeTd, TITHTH

(D) TATHHTHET, ATATHATAF,
S| EsICs | s (31 )

g gdfafyea weamasida

faferse siem vamer fafmar wmem o1’

(A) foxia eAmET Iedeed
(B) 3fre™

(C) YfTHehTel FI8R

(D) fa&eq

gfteen, FFTER ST Ureshi= faursH
fafay wga He hel S
(A) drifaess Tt

(B) AREEA TSI

(C) HHfHs TR

(D) oA TSR0l

10



33.

34.

35.

.................. value is the perceived
benefit received from a product as
an outcome of some particular

occasion or situation.
(A) Novelty

(B) Conditional

(C) Emotional

(D) Social

People, planet and profit are another

3 P’s associated with

(A) Virtual marketing
(B) Green marketing
(C) International marketing

(D) Rural marketing

................. consists of launching the
new product at a low price and
spending heavily on promotion.

(A) Rapid-skimming strategy
(B) Slow-skimming strategy
(C) Rapid-penetration strategy
(D) Slow-penetration strategy

................... is the positive differential
effect that knowing the brand name
has on consumer response to the
product or service.

(A) Brand equity
(B) Brand loyalty
(C) Perceived quality

(D) Brand association

33.

34.

35.
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.................. S 3w e
sTuferd ey ScareA faferse ygw fhan
qRfEerde widd sme.

(A) o

(B) werd

(C) wrEfTeh

(D) HHITSeR

People (&), Planet (I8) d Profit

() & <F ‘W (P)
3TTed.
(A) STaEr fauom

(B) eRa feomaum

(C) A= fauom

(D) 7t ferque

“““““““““ TEY A 3G HHT fRAd
FSRUSA STV TN SHGATAT o TEe!
TS YHIVIG T hIvdral THIAST B,
(A) Sog fomaggt 9/

(B) Hrarehrel fshargst & (i)

(C) VAT deRucd EeS T

IGEREEARCI
(D) fo=rdH FeRYSd FHE 9o

fasragg! g
3aures fag Aifed efeea & 3cueA
fehal Tde UTgshren Yfade &
ThRcHe At aRom oTR.
(A) foe wmmE
(B) T fean
(C) Hn&IehTdt Torera

(D) fa= F=art

........... W‘Sﬁﬁ’q‘%ﬁ‘

11

[P.T.O.



36.

37.

38.

39.

A further 3 P’s are incorporated in
marketing of services :

(A) Process, political power, people

(B) Process, physical evidence,
people

(C) People opinion, process, power

(D) Price, power, people

are special displays, racks,
show cases, banners, exhibits,
signages etc. that are placed in the
retail store to support the sale of a
brand by the manufacturer or
marketers.

(A) Merchandise dealer
(B) Point of purchase
(C) Promotion

(D) Brokers

.............. involves consumer to
consumer marketing, where
consumer directly sell products or
services to other consumers using
the internet.

(A) B2C
(B) B2B
(C) B2A
(D) C2C

From the point of view of consumer,
promotion concept means

(A) Selling

(B) Delivering goods and services

(C) Communication

(D) Solution to consumer problems

36.

37.

38.

39.

JUN - 50220/11—C
a1 fouuEHe 7 sfesrea 3 P’s =
THETT whelal 38 :

(A) 9fsha, TSR o, SH
(B) wfwan, ofifdes @, SH
(C) STHd, "fshan, s

(D) fHa, =@, SH

e Icqeeh fehar fosh
fRtenies forsnt germTa Tawgifoha S
foreh! HRRATS! foy yae wreol, gef
Ao, werh, FeRkia Wt fos 3.
A ASO .

(A) =rfores =q 3tferha fershan

(B) T M (TR 3% TR=H)
(C) WeriH

(D) Tfid

................ q%ﬁ.w m,xﬁa. aﬁ[, aam

d Uesh faUuEE Tesh TS SBdIgR

ScaTe o Tt 92 fashT UreehTeT wal.
(A) B2C (He€™@ d UEH)

(B) B2B (999 d HaEH)

(C) B2A (=Ha9™ d fashl Hfdfei)

D) C2C (UBH q UEH)
gTeshTeal SfedhiAqT gadd Hehedd

(A) fasht

(B) a%] a Fara faawo
(C) A

(D) URH= THSE UM

12



41.

means classification of

standardized products into certain

well defined classes or groups.
(A) Standardization

(B) Gradation

(C) Simplification

(D) Diversification

The time for revocation of offer and
acceptance is defined u/s
the Indian Contract Act, 1872.

41.
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A STYAT TMed SRl HI0L.
(A) THTOTRI

(B) et

(C) GaAHshIm

(D) fafafierto

IR gEferR hrel, 1872 =
HHATEE Y& Whdl FAYE
GRIERE hvATEl AT TG oA
el e

(A) 5 @A) 5
®) 4 B) 4
(C) 3 C) 3
D) 25 (D) 25
42. What does ‘T stands for in IGST ? | 42. ™.S1.TE.J. N TId ‘M’ 7 38R
(A) International *Q”H@ Vq'q{a e ?
(B) Internal & :
(B) sidt
(C) Integrated (C) feire
(D) Intra (D) &
43. What is the fee for getting | 43. wfedi=n Af¥ER 2005 3TaTa Hifedr 9
information under RTI Act 2005 ? FOMEEE Yoeh bl 3R ?
(A) ¥ 20 (A) % 20
(B) ¥ 50 (B) ¥ 50
(€) ¥ 100 (C) T 100
(D) ¥ 10 (D) % 10
13 [P.T.O.



44.

45.

46.

As per Section ................ of the Patent

Act, patent is not be granted in

respect of an invention relating to

atomic energy.

(A) 4

B) 1

(C) 2

D) 3

Which of the following forms are

used for GST registration ?

(A) GSTR-1

(B) GSTAPL-01

(C) GST REG-01

(D) GST RED-01

Match the following groups :
Group-I

Lalman Shukla Vs. Gauri Datt

(1913)

(i1) Thomas Vs. Thomas (1842)

(zii) Burnard Vs. Haggis (1863)

(tv) Peek Vs. Gurney (1873)

Group-II
(@) Acceptance

@)

(b) Consideration

(¢) Capacity to contract

(d) Misrepresentation

Codes :

A) () —(a), (Gi)—(b), Gii)—(c),
(iv)—(d)

(1)—(d), (i)—(c),
(iv)—a)

(i)—(b), (i)—(a),
(iv)—c)

(i)—(c), @i)—(d),
(iv)—(b)

(B) (ii1)—(b),

(C) (iti)—(d),

(D) (iit)—(a),

44.

45.

46.
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Thd HIICATA] HITAT HeAqarad
STU[STeN HeTHd TS Thed SHHR
TSR el W@ A ?
(A) 4
B) 1
(C) 2
D) 3
K] 9 TE1 A QTS ekl
IO JYATET IO shell Sial 2
(A) GSTR-1
(B) GSTAPL-01
(C) GST REG-01
(D) GST RED-01
EEEIRICASCC
Te-' 3’
() weEE gEen fa T @ (1913)
(i) oy fa. o9 (1842)
@) s fa. & s (1863)
(iv) W fa. T (1873)

Te-' 3y’

(@) iepdt

(b) Gid®wa

() vEfaeT=T &

d) fagarg

®S

A) (@)—(a), G1)—(b), Gii)—(c),
(tv)—(d)

(B) (\)—(d), (ii)—(c), (iit)—(b),
(tv)—(a)

(C) 1)—(b), (ii)—(a), (i) —(d),
(tv)—c)

D) @)—(c), (Gi)—(d), (ii)—(a),
(tv)—(b)
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47. Match the following groups with | 47. Hifgd TN HERT 2000 = FEHA Jea
reference to Information Technology Siren Sezal
Act 2000 : I |

Group-1 () WA W
(1) Access (i) ST
(i1) Computer (i) TR
(iii) Data iv) SR e
(tv) Digital Signature TE-1I
Group-II @ e 21)@)
(@) Sec. 2(1)(a) :
‘ (b) HaH 2(1)@)
(b) Sec. 2(1)@)
(c) hetH 2(1)(0)
(¢) Sec. 2(1)0)
@ Sec. 2(1)(p) :;)_S_W 20
Codes : )
A) ()—(a), (i)—(b), Gii)—(c), A) (@)—(a), @1)—(), Git)—I(c),
(V) —(d) =)
B) ()—(b), (ii)—(c), (iii)—(d), (B) ()—(b), (i)—(c), (Fii)—(d),
(iv)—(a) (iv)—(a)
(iv)—(c) (w)—e)
D) ()—b), (ii)—(d), (iii)—(c), D) ()—), (i)—(d), (ir)—(c),
(iv)—() ()—(a)

48, v is defined in chapter XI | 48. Aifed StferhR et 2000 =1 R
from section 65 to 78 of the XI Hefld het™ 65 9 78 HEA HIHl
Information Technology Act 2000. Al HI0A ATl 3 ?

(A) Offences (A) 19Uy
(B) Penalties (B) wil/Ee
(C) Cyber Appellate Tribunal (C) IR Al =T EenTo]
(D) Electronic Governance (D) sieRifeh Qe
15 [P.T.O.



49.

50.

51.

The Central Chief Information

Commissioner (CIC) is appointed

(A) President

(B) Vice-President
(C) Prime Minister
(D) Home Minister

Every LLP has to file an annual
return duly authenticated with the
Registrar within

closure of its financial year.
(A) 45
(B) 120
(C) 60
D) 90

Income which accrues in Singapore
from business not controlled from
India is ..ccccoveeennnee
(A)
(B)

(&)

Taxable only for a non-resident
Not taxable for non-resident

Taxable only for resident but

not ordinarily resident

(D) Not taxable in case of all types

of assessees

49.

50.

51.

JUN - 50220/I1—C

PSR G I ST T P10 e 2

(A) WA Teadt

(B) YRArE U
(C) Hausm

(D) TN

Uk AIifed SOePeR] Wiedal TN
gefifaaden ARy Shoial st

di

feadre 3T Feeedhe FeT 0l TS
e,

(A) 45

(B) 120

(C) 60

D) 90

IRarqd At T sen oo R

Jefted IUIfSid Ied— ¢

(A) e SATHaTH ST hids T9d

(B) AMEME g™ U 79

(C) framdt wy wdwrERegur fardt
I HIQIAE HLH T9d

(D) Td YhR=AT HISTA T hiars 94
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52.

53.

54.

Gross total income has computed
under Income Tax Act for A.Y. 2018-
2019 of Mr. Sarjeraois ¥ 3,30,000. He
deposits ¥ 12,000 in PPF and
¥ 8,000 in National Savings
Certificate VIII series. His
agricultural income is ¥ 3,50,000,
then tax payable by him will be............
(A) ¥ 3,000

(B) NIL

(C) ¥ 9,790

(D) T 32,500

Miss Smita purchased residential
property at New Mumbai for a
consideration of ¥ 50,00,000, value
for stamp duty purpose of that
property was ¥ 46,00,000, then how
much tax she should deduct as tax
at source u/s 194 IA of Income Tax
Act from payment to be made to the
sellers ?

(A) NIL

(B) T 50,000

(C) T 46,000

(D) ¥ 10,000

Mr. Bhushan owns a house property,
its municipal value is ¥ 1,20,000
while fair rent is ¥ 1,80,000,
Municipal taxes are 25%. The house
was let out for first 5 months of the
previous year for ¥ 14,000 per
month. The house was self-occupied
for the remaining months.
Net annual value of the property

(A) % 1,40,000
(B) % 30,000
(C) % 1,50,000
(D) % 80,000

52.

53.

54.

JUN - 50220/II—C
wT a8 2018-2019 IS it

HoNTE A TR 36 3¢9 2 3,30,000
3. A Fresites vfasy frafe fefia
T 12,000 SHT %l 31gA % 8,000 <
3MSUT HifcTeh et TSI oad U3 ©RGT el
3MRA. = FH 3¢9 2 3,50,000 2TR.
W & fohet X SeETen a2
(A) T 3,000

(B) =

(C) T 9,79

(D) % 32,500

FART o T el goi 39 3 50,00,000,
saeRn TR Ten fHamEt ATeTH R BE]
%!, 3IH Y[ehT=Al IS Al
et fead T 46,00,000 sAshi
TUUATT STTell. HART FoAar A STeht
FHRET FHeH 194 [A TR fasamd 3
STHUIAT TohEeh! fohall TohH  SIHTIRA
F' WUH HUG wqA ?

(A) =

(B) T 50,000

(C) T 46,000

(D) T 10,000

o uur ® ¥ 1,20,000 3 TR
T STHUMAT B17< Heleh 3T1ed. A1 B
3fad HeF ¥ 1,80,000 I 3ITR.
TRUTETHRT FX § 25% 2TRd. & =R
¥ AT 9o afgedn 5 Afg=d T 14,000
IR A o RS o | R Kot e o DR
3. AR HICTEE == TR L& 30
LTI ST AT SR T ATSiieh Hod
3.

(A) T 1,40,000

(B) T 30,000

(C) T 1,50,000

(D) T 80,000

17
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55.

56.

57.

Gratuity received by a Director who,
under the relevant contract, is not
an employee or servant of a
company is assessable under the
head of income

(A) Salaries

(B) Business

(C) Profession
(D) Other sources

On 12th December, 2018 Sachin
(a minor child) received gift of
%2 5,00,000 from other than his
relative persons. On the same day
the amount was deposited in bank
on which interest of ¥ 14,750 was
received for the previous year
ending 31st March, 2019. Then his
income will be clubbed with

(A) Father’s income ¥ 5,00,000

(B) Mother’s income ¥ 2,50,000 and
father’s income ¥ 2,50,000

Father’s income ¥ 5,13,250

Father’s income % 5,13,250 or
mother’s income ¥ 5,13,250, at
the option of parents

(®)
(D)

In case of non-corporate assessee
expenditure which do not qualify for
deduction under section 35D(2) is :
(A) Preparation Feasibility Report
(B) Preparation of Project Report
(C) Conducting Market Survey

(D) Expenditure on Acquisition of
Machinery

55.

56.

57.

JUN - 50220/I1—C

SO GaTeieh, S Geud  HIsTaiid
HTEG SARd 9 S hUAE HHAR] AL
qgeh AR, Al 9T e SUeH
AT 10T INSErel grefae

SEA ?

(A) o

(B) =@

(C) =Ia9™

(D) 3T &

12 fedsr 2018 st WA =1 3FH

™™ T 5,00,000 SAhT WY ATdaTEh

TN FKihed He fHerell. <=

feasht <t Tony s T oA STl

TN AR T 14,750 3de =4 31 1,

2019 a1 A Iod W F. 9GSl

STl TFhH IOl ThHd THeS U

REC I

(A) afeam= 3= T 5,00,000

(B) 3ME= 3= % 2,50,000 & dfeer=
3@ T 2,50,000

(C) afeam= 3= T 5,13,250

(D) IRl TAEER, afea™ a1
% 5,13,250 9 3T 39 ¥ 5,13,250

TR g Geuid shIvar T

MY hHEACUTAT hetH 35D(2) IR

R A= AR 2

(A) SHTEEd 3TEATA TIR HL0l
(B) Yohed 2789l dIR hiv]

(C) ISTU3 FA&u hiol

fa

(D) AU EREES shoidl ©d

18



58.

59.

60.

Which of the following considerations
is not taken into account in make
or buy decision in tax planning ?
(A) Utilisation of capacity

(B) Inadequacy of funds

(C) Latest technology

(D) Market for the product

As per section 44ADA, resident
assessee engages in sepcified
profession has to pay income tax at

of Gross Receipts not

exceeding ¥ 50,00,000 in a previous

year.
(A) 30%
(B) 8%
(C) 50%
D) 10%

Rebate for resident individual
having total income upto T 3,50,000
for AY 2019-20 under section 87-A
of Income Tax Act, 1961 is :

(A) 100% of Income Tax or T 2,000

which is lower

100% of Income Tax or ¥ 5,000

whichever is lower

100% of Income Tax or ¥ 2,500

whichever is lower

100% of Income Tax or T 3,500

whichever is lower

(B)

(&)

(D)

58.

59.

60.

JUN - 50220/I1—C

TR TEeARTEE =R Stven fawmE
ol Samr v gfaea fo=amd Sdaa

S| AT ?

(A) &A= TR

(B) THef= Hawar

(C) enyfi o

(D) SEEAERGE! SSRUS

IR HIIATET Hetd 44ADA TIAR
fafyrse Uy wRERa swueAn fardt
FIQTAT™ Fhd 3¢9 T 50,00,000 &7
HT ST T VAT S HL RTal
AR ?
(A) 30%
(B) 8%
(C) 50%
D) 10%
w FURT a6 2019-20 T AHRT

SN 1961 Heftel shetd 87-A IR TR0
3™ % 3,50,000 AU et s

ATFUET 100% TFRA foRar
¥ 2,000 & & WA d

ATTHUET 100% IF®HT fHar
Z 5,000 ST ®H A d

ATHUET 100% IFHT fHar
¥ 2,500 31 & WA d

ATTFUET 100% TFRA ToRdr
Z 3,500 S & WA d

(A)

(B)

(C)

(D)

19
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61. A systematic assessment of an

62.

63.

activity on some meaningful,
definable domain of companies
activities that have social impact
is :

(A) Environmental Audit

(B) Green Audit

(C) Social Audit

(D) Public Audit

Which one of the following is not an

argument in favour of free trade ?

(A)

Economic utilization of world

productive resources

(B)

Division of labour on an

international scale
©)
(D)

Breaks the domestic monopolies

of

exchange of the country

UNCTAD is established by the
United Nations General Assembly in

Conservation foreign

and it has its headquarters

(A) 1964—Geneva
(B) 1965—New York
(C) 1964—Paris

(D) 1965—Geneva

61.

62.

63.

JUN - 50220/I1—C

FHure fafire stequl sEiaEme fafay
fohaT™l WTHTSIeh IRATIMER. giasa d

EESEFSEE-GIE I C R R R IR S
(A) THELO eher

(B) BRa sfeher

(C) WIS STheu

(D) WrESI{eh STehe

T SR FHeTe Tefierden! shiord

qq U e ?

(A) SINTfaer ScdIeeh daneAr=n faaeae

EIEES
(B) SRS WG STHSTToR
(C) QM HeRiqRl HIgH whied
(D) <xT=AT TR fafmar e

SRS TATAT TR T STRA ST

............... _q.l.a-sﬁ q"\)Q’ﬁ 3:‘1'&'[ (“blla d{g&,”@q

(A) 1964—fSifan
(B) 1965—=3Ts
(C) 1964—1fH
(D) 1965—fSifar

20



64.

65.

The International Monetary Fund
in its world economic outlook
published in Jan. 2019 has projected
world output to grow at ............

percent.
(A) 3.8
(B) 3.7
(C) 3.5
D) 4.1
X : Mexico is a member of NAFTA.

Y : NAFTA started functioning
from 1st Jan. 1994.

(A) Only X is true
(B) Only Y is true
(C) Both X and Y are true
(D) Both X and Y are false

64.

65.

JUN - 50220/11—C
SATAWTSET ATOTAE I, 2019 |E

JHIWTT HATAT dce  IHhiATHHR

FHEIFRAY STk IR TG

29 TR ST SRS SiYe ST
(A) 3.8
(B) 3.7
(C) 35

(D) 4.1

&1 ¢ AT AT °¢|I“|I{{‘EHI‘C{I ‘-II'\°|'H°|';\| A
TS,

J ;. AN ®E 1 SH. 1994 TR g8
.

(A) ®F ‘&’ TER IR

(B) e ‘A’ RIS TR

©) ‘&g’ 9 ‘7' = e e

D) ‘&’ 9 ‘F' = gH AR

66. X : Balance of trade records export | 66. ‘&' : STTERIY IEAd ekl G9F TR
and import of only visible goods. frafa o st g Sell S
Y : It comprises of balance of trade. ‘' . d SHTIREIETET SHeRT BIdl.
(A) Only X is correct (A) Fad ‘&1’ SUS AR
(B) Only Y is correct (B) % ‘9’ e 3TE
(C) Both X and Y are incorrect ) ‘&' 9 ‘¥ IEH TH AR
(D) Both X and Y are correct (D) ‘&' 9 ‘¥’ =LE T AR
21 [P.T.O.



67.

68.

Which of these is not an objective

of protectionist trade strategy ?
(A)
(B)

Protection of domestic industries

Promoting indigenous research

and development
C)
(D)

Protecting rights of nationals

of

exchange reserves

Conservation foreign

Match the columns :

Group A (Institutions/Events)

@ GATT

(i1) Bretton Woods Conference

(211) International Monetary Fund

(tv) European Community

Group B (Years)

(@) 1947

(b) 1957

(¢c) 1944

(d) 1945

A) (D)—(a), (Gi)—(c), (@ii)—(d),
(iv)—(b)

(B) (@)—(a), (@i)—(b), (ii)—(d),
(tv)—(c)

©C) ()—(a), @i)—(c), (ii)—(b),
(iv)—d)

D) (@)—(a), @i)—(b), Git)—I(c),
(iv)—d)

67.

68.

JUN - 50220/11—C
ITUehT HIT WA MR Fed Ifese
e ?
(A) YN STNT H&T0T

(B) Tenfes gener 2A1fvr fashmams yed=

(C) SNTIehT=AT Berhlel ST

(D) TWhE I Fiear= FaeH

SISPIISCCIE
e ‘A (FWEAT/EE)

@) T

(i) s gy uRug

(ii) STAEE AT

(iv) IO T

T " ()

(@) 1947

(b) 1957

(c) 1944

(d) 1945

A) ()—(a), (i1)—(c), (iii)—(d),
(tv)—(b)

B) (i)—(a), Gi)—(b), (iii)—(d),
(fv)—(c)

(C) (i)—(a), (@i)—(c), (Git)—(d),
(tv)—d)

D) ()—(a), Gi)—(b), Gii)—(c),
(tv)—(d)
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69.

70.

71.

Which of the following is not a
method under foreign direct

investment ?

(A) Wholly owned subsidiary

(B) Joint venture

(C) Global depository receipts

(D) Acquisition

As per the recent FDI policy, 100

per cent investment through

automatic route is not allowed

(A) Petroleum refining by the PSUs
(B) Oil and natural gas exploration
(C) Mining and minerals

(D) Plantation

Omission of paise and showing the
round figures in financial statements
is based on

(A) Conservatism concept
(B) Consistency concept
(C) Materiality concept

(D) Realization concept

69.

70.

71.

JUN - 50220/I1—C

e foRsft TaauEhT= @efierish! HIvd]
usd TE 2

(A) Tl AR HREAYT Hed
(B) HYH ITHA

(C) SIrfdes 3d et

(D) HuEA
sAfershera g2 fageil e FiqER,
wgafad 9§d 100 TFh T[A9H

T A HIOIE WA ATEL

(A) HES® &N STregd da

SIS0 FehouTd
(B) aa@ smfor “afifer oy I
(C) |frd afor @t
(D) <rEe

foxia Uorrd 99 aTesul ST TR
Www% ............. W

TG HehoTH]

HIITd HehaTH]

ORdeh  Hohod ]

(D) aYel Heheq

72. Which SA deals with audit | 72, HR SA (YA SiharT) sidhamr T
sampling ? FAFUEN FEfd g ?
(A) SA 530 (A) SA 530
(B) SA 400 (B) SA 400
(C) SA 610 (C) SA 610
(D) SA 500 (D) SA 500
23 [P.T.O.



73.

74.

75.

76.

Which of the following denotes a
target cost ?

(A) Market price—Desired profit
margin

Standard selling price—
Standard profit margin
Standard selling price—Target
profit margin

Market price—Return
invesment

ABC Ltd. has a current ratio of
1.5 : 1 and net current assets of
% 5,00,000. What are the current
assets ?

(A) ¥ 5,00,000

(B) ¥ 10,00,000

(C) % 15,00,000

(D) ¥ 25,00,000

Which one of the following is not a
contingent liability ?

(A) B/R discounted but not matured
(B) Underwriting commission
payable

Arrears of cumulative dividend
on preference shares

(D) Uncalled capital on investments
An audit report of company says that
“Company has not provided
depreciation for the year amounting
to ¥ 8,50,000, subject to this
reservation, we report that balance
sheet says true and fair view. This
report is called as
(A) Clean report
(B) Qualified report

(C) Adverse report

(D) Disclaimer of opinion

(B)

(&)

D) on

()

73.

74.

75.

76.

JUN - 50220/I1—C

Eeiade! v 33/ faeam e aiem
Teffad ?

(A) ISR ferua—saTafera 1 S
(B) A& fasht fehAa—dme 1 S
(C) A foashl frad—asd 1 Hi

(D) IR fh Aa—Taausada

qIdran

fafeed =g UIRR TH9T ©
1.5 : 1 3R Ao fedes <o) HieTHw
Z 5,00,000 37§, T Ll qreTH=ITe ! (R
et ?
(A) % 5,00,000
(B) T 10,00,000
(C) % 15,00,000
(D) T 25,00,000
UEIcTdsh! IO SThfEs qrfacars’
QL0 3 ?
(A) Sefaciean W <F 1 il gl
(B) YFOHIYRET <3 STHURT Tarrett
(C) wafaa stUeds wTERa g

AT

(D) T[AEUIhIaRIe AU T Tholel Wigdd
Teh! HUAET SThETT STRaTd 319 ol
F ‘HUAHE T 8,50,000 = EEAEIR
S cholall A&l AT Aiesd] A&
STFET STHT 3TEATEl Qdl i Il ATesalg
T onfor Ta feert <uifaa ofme. =
w ............... 34_@. W.
(A) W= A-ATA
(B) INGHK STEAT/HIA 8T
(C) wfdeRal 3TgaT]

(D) T 7 TUR/HAD FHdl T SIS0
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77.

78.

79.

80.

Activity-based costing .................
(A) may be used with job order but
not process costing

may be used with process but
not job order costing

trends to increase the number
of cost pools

trends to decrease the number
of cost pools

XYZ Ltd. has a debt-equity ratio of
1.5 as compared to 1.3 Industry
average. It means that the firm
has :

(A) Higher liquidity

(B) Higher financial risk

(C) Higher profitability

(D) Higher capital employed
Which of the following is a result of
separate entity concept ?

(A) Research and development
(B) Buying and selling

(C) Owners capital and drawings
(D) Sale of scrap

Varsha and Monica are partners
sharing profit and losses in the ratio
of 3 : 2 having the capital of ¥ 80,000
and ¥ 50,000 respectively. They are
entitled to 9% p.a. interest on capital
before distributing the profit. During
the year firm earned ¥ 7,800 after
allowing interest on capital. Profit
apportioned among Varsha and
Monica is :

(A) ¥ 4,680 and % 3,120

(B) ¥ 5,000 and % 2,800

(C) ¥ 4,800 and % 3,000

(D) ¥ 4,680 and T 2,800

(B)

(®)

(D)

7.

78.

79.

80.

JUN - 50220/I1—C

H/IURA TR qRer e

(A) wE SRy (e 3f7SY) HaHm
T ST ¥Tehd Ui Hfshal TRy
o Hewid el

(B) sk STRTA SO ST ¥ehd T
Fr TRy aRerd faRomme @t

(C) e Fefed 99 aefauarhe &d

L
(D) 9T G9ed 99 hHA[ hitdlhs

hed
T 9 o€ fafiees &sl wiead o
T 1.5 3T & qod SEnTe SEd
1.3 2T, aren 3¢ STH1 Bl i HEAE
e,
(A) Af¥eRaq qleral
(B) aifaeran smfde Sety
(C) AfYhad TgEd
(D) 3ifaehan Wiead T[aavh
TS G A AT Fehed
IGHE.
(A) TENeR smfor fasm
(B) ®Rat 3mfur foset
(C) HIeTeh! wedel 20T 3o
(D) Y=t ot
o1 SATTOT HfRT &N 9RTERN 3 : 2 TUIRR
THT (0T Aredrd YA @ AIhH
% 80,000 30T T 50,000 Wigad 3TE.
1 HIEdareR TH AevaTge 9% Hfdars
T AT T, Tt Iuid rieR T8
YRR & @R 7,800 T el
W ol A0 MRS TR 92T F4
HES
(A) T 4,680 =1fu1 T 3,120
(B) T 5,000 7ot ¥ 2,800
(C) T 4,800 37for T 3,000
(D) T 4,680 =01 T 2,800
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81.

82.

83.

Usually, the demand for necessities

(A) Highly elastic
(B) Infinitely elastic
(C) Highly inealstic
(D) Unitary elastic

The price elasticity of demand for
addictive products like cigarettes and

alcohol would be ...........
(A) Greater than 1

(B) Less than 1

(C) Infinity

(D) One

Which one of the following products

has highly inelastic demand ?
(A) Jewellery

(B) Television set

(C) Salt

(D) Sports car

81.

82.

83.

JUN - 50220/I1—C

AT STeArads &=l AFol

(A) gu Efees

(B) 3waie efefeh
(C) TU 3reafaeh
(D) Theh oAdeh

T A=A % SN feRe enfur w=
JreA S AETUE foRua erafeehan

(A) Ts U 3ifYm
(B) Ts Uem HHl
(C) 37T

(D) T

TR IV SCATGATET ARTON T
Fafesh FHA ?

(A) T

(B) gfesremoft =

(C) Hie

(D) TREE HR
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84. Which of the following is not a

85.

86.

method of measuring price elasticity

of demand ?

(A) Ratio method

(B) Outlay method

(C) Psychological method
(D) Geometrical method

Usually, isoquants are

(A) Concave to the origin
(B) Convex to the origin
(C) Parallel to the origin
(D) Perpendicular to the origin

Average cost and Marginal cost

curves are U shaped and

(A) Average cost curve cuts

marginal cost curve from below

(B)

Marginal cost curve cuts

average cost curve from below

(C) Average cost and marginal cost

curves are one and the same

(D)

After intersection, average cost

exceeds marginal cost

JUN - 50220/I1—C

84. TWITATATHT HITTdT ATTON=N fohHAd

85.

86.

Aafaehar AuaTET ggfd ATEr ?
(A) TUIRR dgd

(B) THU @ Tgd

(C) HHERTSIT 954

(D) yfadta wsd
I :, TS a9 §
(A) SRfagEN Tddsh
(B) sRufegelt afgdsh
(C) SRHfogR FHR
(D) RYfSGEM Faehra

e TE o7 ' e o 7 U

SR AT STl

(A) TE T 9%, | @ ashE
ISR

(B) Wi Tr€ a%h HUE ©E o
ISR

(C) wWHd TE 9% 9 HHG @€ 9%
Tehd AHAId

(D) B fogam Tl @< g% HiHa

Iy N
L dehl4&l S 3THdAl
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87.

88.

89.

90.

Which of the following is not
true ?

(A) Opportunity cost is the cost of

alternative opportunity lost
(B) During short-run some factors
are fixed
©)

(D)

Variable cost is a prime cost

Total cost = Total fixed cost +
Average variable cost

Additional
producing one more unit is known

cost incurred on

(A) Average cost
(B) Marginal cost
(C) Implicit cost
(D) Accounting cost

The imposition of a lumpsum tax
will result in of both the
Average Fixed Cost (AFC) and the
Average Total Cost (ATC) curves.

(A) Upward shift
(B) Downward shift
(C) Leftward shift
(D) Rightward shift

The demand curve for a perfectly

competitive firm is
(A) Horizontal straight line
(B) Vertical straight line
(C) Upward sloping curve

(D) Downward sloping curve

87.

88.

89.

90.

JUN - 50220/11—C
qElcTueh! ShIvd foa aier A& ?
(A) F-TF ©E WUS 91 Ieed
TR el e

(B) 3TeUehTadd <hTel STeM (o) feex
SHATd

(C) wCerdl ©E B WUH TH e

(D) THY T = THY 2R T + T
CESCIRCL]

Teh ST 77T ScaTiGd ShoAETS! Sholdll

sifalea @<= I 3 T
(A) T '=
(B) @M@ w=
(C) =af@ @«

(D) TEHeet T

Th{ehHI h{=AT SAThRUTHeS TUE feer
T i Wl T e
/S

(A) = fewien

(B) wTreren fesien

(C) srEtRe

(D) SSEHS

quf =1 Ye=n ArTviteh
(A) FHI Wes I

(B) 34l Wes oM

(C) @ s v &k

(D) I%9 @elt SR <ish
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91.

92.

93.

Which of the following is not a
function performed by a financial
system ?

(A) Savings functions

(B) Liquidity functions

(C) Risk functions

(D) Social functions

Which of the following statements
is not the assumption of Modigliani-
Miller approach ?

(A) Corporate Income Tax is

assumed to be absent
(B) There does not exist any

transaction cost

(C) The dividend payout ratio is 100

percent
(D) Personal leverage and corporate
leverage are not perfect

substitues

The process of converting cash flow
into present equitables is called :

(A) Discounting
(B) Compounding
(C) Rationing
(D) Budgeting

91.

92.

93.

JUN - 50220/I1—C

WIATAUh! hivd e faxia T=ogR IR
el S ATt ?

(A) s=a ®E

(B) J@Wear &

(C) Sretw

(D) WIS i

Tifereari-faer gfesmm wefiertes]
FIv faum Ea T ?
(A) JHSE! SR 81 I 318 3 TRId

(B) <a=@ Uiemd ifard el

(C) T F TUIRK GO I& 38

(D) dafosr Ufaqees oTfor yHea
i ¥ gul wfdEsT A

U YR Iad THH 2AhSaTd Bl
HOITAT Aichad 3Ty UG-
(A) FEIR

(B) URumeRToH

(C) THaareq

(D) SAdHFHeA

94. Which of the following factors does | 94. TITciiciUeh! HITICAT SIEHTAT U=

not affect on the capital structure of Wedd TE-a) Iomy g Ater ?

{) .
A ot of il ) s
ost of capita

(B) Composition of current assets (B) L

(C) Expected nature of cash flow (C) {r@ waEM J9iis &y

(D) Dilution of control (D) o = o
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95.

96.

97.

Dr. Gupta purchased 400 shares of
Glaxo Ltd. @ ¥ 61 each on 15th
October, 2014. He paid brokerage of
% 600. The company paid dividend

as follows :

June, 2015 % 800
June, 2016 % 1,000
June, 2017 3 1,200

He sold his holdings for ¥ 34,500 on
15th October, 2017. What is the
annual return ?

(A) 16.67%
(B) 18.23%
(C) 14.76%
(D) 13.47%
The method of raising equity capital
from existing members by offering
securities on pro-rata basis is
referred to as
(A) Public issue
(B) Right issue

(C) Bonus issue

(D) Private placement

Below level of sales NPV is
negative and above this level the

NPV is positive in multinational
capital budgeting.

(A) Risk adjusted cash flow

(B) Sensitivity level analysis

(C) Simulation

(D) Break-even

95.

96.

97.

JUN - 50220/I1—C

15 3fERER, 2014 ST SX. @I AT Torr
fafgeeqsd 400 9 WqurT T 61 AT
W] el T T 600 Tearent fEetl. hoH

TRy e feen
A, 2015 z 800
S, 2016 % 1,000
A, 2017 % 1,200

AT 15 SRR, 2017 USH =D 9H
% 34,500 & foehet T = anftich aRare
T fowet ?

(A) 16.67%

(B) 18.23%

(C) 14.76%

D) 13.47%

LA GHEGHT ALTIHTOT Sh1el & TR
T HOIH 3 e
EiG

(A) YT Greste e

(B) ek foiwa

(C) Ifoenyer (") w9 A
(D) @i v s

TGS TSt STRTSISIehTd
=rueT fasiades St 3™ e
SAHMHTA RO (=) THEA AT -
Tdceaer. fedes adHM Hed STHed
g (+) T

(A) SEm gaEIfsd WE JaTe

(B) Hoeaiterdr didesl fawersmn

(C) 3R
(D) =K
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98. Nominal interest rate is the prodaet | ~ _
N 98. FTHHT HTSIEY Bl =1 TR STl
(A) Real interest rate and rate of (A) 9RdE &S €T M0 HEEmEel €
inflation
(B) Real interest rate and exchange (B) ar&fa =S X for faftea <X
rate
(C) Exchange rate and market rate (C) TITerT TS Sqrreftes ¢
(D) Real interest rate and market (D) =T =S € A0 SIS €%
rate 0 . ‘ ) X
99. International capital budgeting 99. ATAWTSCA HISddd AQTSTYAh [eh LU
incorporates : | e TS 3T
(A) Only financial factors (A) e foxiag afasa
(B) Financial and non-financial (B) fota omfor IRfasdia wfasy
factors (©) e SRR ey
(C) Only the non-financial factors
(D) Qualitative factors (D) Tomesss Rk
100. Multilateral Investment Guarantee | 100. SEUSH T[de0eh gHT T (THIISIT)
Agency (MIGA) : Fp e
(A) Is a sister institution of the
World Bank (A) STIfqer Sehell 9RTHT H¥T 3T
(B) Is an insurance agency of the (B) {‘igl,clﬂ T () TR Ta
US Govt. )
(C) Is a part of Asian Development R
Bank (C) nf¥rng foespra sfeh=n W a1
D) I ister institution of
v Iitearnsatsiienal Dszvtel;z:mer(:t D) WWWWW
Agency 3T
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ROUGH WORK
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